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Q.1: - Answer the following in one or two sentences (any six): (12 Marks)

a. State the rule of Simple constructive Dilemma.

b. Define hypothesis

¢. State the rule of Modus Tollendo Ponens.

d. Name the four valid moods of all figures of categorical syllogism having ‘E’proposition as its
conclusion.

¢. Identify and symbolise the rule in the following- Either it is raining or it is sunny. It is not raining.
Therefore, it is sunny.

f. What is the position of middle term in fig I of the categorical syllogism.

g.State Aristotle’s dictum and its meaning.

h. Define mediate inference. Give an example.

[. Reduce directly- Darapti

J- State the types of Anumana/Nyaya logic.

Q.2: Write short notes on any two (12 marks)
a. Bob Brown’s case.

b. Vis Major

¢. Prove the special rule of Fig I of categorical syllogism

d. Directive and expressive use of language.

Q.3: Solve any two questions (12 marks)
a. Test the validity of the following categorical syllogism. Identify the figure. Give reasons.
1) All philosophers are thinkers. Some students are philosophers. Therefore. some students
are thinkers.
i) All healthy foods are nutritious. No candies are nutritious. Therefore, no candics are
healthy foods.

b. Reduce Indirectly- Baroco
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¢. Identify the following fallacy. Give reasons.

1) "Your plan to reduce greenhouse gas emissions is flawed and won't work " "Why should
we listen to you? Aren't you the same person who failed biology in college?"

i1) During a court trial, a defense attorney says:- "My client should not be found guilty of
burglary. He is the sole provider for his family, his spouse is sick, and his children depend on him, If
he goes to prison, his family will suffer greatly."

i11)"Reading fiction is a waste of time because it does not provide any real benefit to people."

d. Identify the following fallacy if any in the following. Give reasons.
i) If he goes for a movie, he misses the class. He misses the class. Therefore, he goes for a
movie,
i) Either he likes sweets or junk foods. He likes sweets. Therefore. he doesn’t like junk
foods.
i) Not a single Indian is American. Mahesh is not an Indian. Therefore, Mahesh is not an

Indian.

Q.4: Answer the following questions. Question no 4(¢) is compulsory and any two from (a), (b), (¢),
and (d) (39 marks)

a. Explain the following-

1) Kinds of agreement and disagreement. (7)

1) Any 3 impediments to good reasoning. (6)

b. Explain the scientific notion of cause.

¢. Discuss in detail verification of hypothesis.

d. Explain the concept of equality and justice in view of Peter Singer,

¢. Construct the complex constructive dilemma, refute and rebut it. -

[f'a dam is constructed, the environment is affected, and if it is cancelled. people will face shortage

of water.
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